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POINTS TO PONDER

1. The xna says Nty [2 1TY7X 21D nwyn? nd7n1, usually the xana just says nd>7n1 why does it
add the word nwyn??

2. Further to the above, if it was a 790 regarding the n>7n what would happen? Would we say
N'XN "7V Nrann X'ximn, and she wouldn’t be able to collect?

3. |0 asks what would happen if she had a noin but not nx1. If the main cause for a arn is
nX1, what would be if she had nx'a before the noin?

4. If someone is wT a lady and says that it's conditioned on him not having to provide v
NIyI Niod, according to nTIN' 0 it's a valid *xan regarding the niod Wxw which are nn.
What is 'nTIn' 'a1s reasoning? Does he argue on the concept of nIna am>w nn 7y nann? If
yes, why wouldn’t it work for naiv as well? (*"wn writes that it’s only valid for niod1 Wxw).

5. The xna says that 7'x&n a1 holds that xn=uxT naind. This applies to a naimd of a n'2ina but a
namd of nin7x is 12T even according to 7'xn 21, Would a *xan help than accordingly in a
NIN7X N2IMdD?

6. 7'xn N says the someone who gives a lady a naimb of less than 200 it's a niar n'7'va, and
NTIN' 20 argues and says that he can write a n'7Ina a namd of 200 and she writes that she
received 100. Why didn’t he give a simple example whereby he wrote her a nain> of only
1007
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If you have any comments or suggestions, please email Rabbi Grunhaus at
Ygrunhaus@gmail.com
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